Intro to college math: Chapter 1.5
Operations with Integers
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1. Use the rule of order of operations to simplify the expression as much as possible.
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2. Use the rule of order of operations to simplify the expression as much as possible.
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3. Use the rule for order of operations to simplify the expression as much as possible.
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4. Use the rule for order of operations to simplify the expression as much as possible.
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6. Find the following quotient (divide): -9 k\
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7. The following problem involves ore than one operation. Simplify as much as possible:
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8. The following problem involves ore than one operation. Simplify as much as possible:
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